
Test 11
Test 12 Test 13

14) .L+1=.Lx'g=Z=1.f. 1) 4X=-124 9) 71) addition; multiplication
1) 15X + 25Y

X = -31 162) subtraction; division 10 2 51<J' 1 5 5
2) 7B + 8B = 15B

10) 1£=~
3 9 2l 5j.{f 5 2) 4(-31)=-1243) addition; multiplication 15) "4+ lO;lX~= 6" 3) 4CX +3DX -124 = -124 16 4

8 1
4) subtraction; division

16) L2+92 =152 4) 90+9W 3) -70 + 6 + 50 = 15 - 7 11) 16='25) 3X - 4
5) 2XY +2XY= -20 = 8 - 6L2 + 81 = 225
4XY -20 =2

12) lx~=1.6) -9Y + 7
L2 = 225 - 81 6) 10AY + 12BY 0=-1 ?'4 'K. 47) 3X + 9
L2 = 144 7) 10(X + Y) 4) -7(-1)+6+5(-1)=15-7

.1~1. = .1x ~ = 36 = 71
8) 6B + 7

7 + 6 + (-5) = 8 13)L = 12 ft. 8) A(8 + 11) = 19A 5·951 5 59) 4A - 1 = 3A + 8 8=8
4A - 3A = 8 + 1 17) ±9 9) 4X(Y + 2Z)

5) 3(P + 5) + P = 3(2 + P) ~ 1
14) §.~-±-=..§.xg=.§.=2-A=9 18) B + 5 = 11 10) 4(0 + R) 3P + 15 + P = 6 + 3P 6 . 12 ~ 9"'2 2 210) 4(9) - 1 = 3(9) + 8 B=6 11) 5(A + 5B) 4P+ 15 = 6 +3P

36 - 1 = 27 + 8 4P - 3P = 6 - 15 15) 11£+2.1.§..=327 =42-19) 1 x.f.=..f.= 1 12) D(A+C) P=6-15 20 20 20 2035 =35
2 3 6 3

13) -A - 22 = -2A - 30 P =-9 32- +5.1..f. = 8.ill.11) 1 +F+3+F=F+5
12 -;-3 = 4 pink blooms -A + 2A = -30 + 22

6) 3((-9) + 5) + (-9) = 3(2 + (-9))
16)

42 42 422F +4=F +5
~ + 1. = ~ ;l = .§. = 6 A=-82F - F = 5 - 4 20) 3(-4) - 9 = 3(-7)

17) 91.+41=132..=14F=1 4 8 fi 1 1 14) -(-8)-22=-2(-8)-30 -12- 9 =-21 2 2 2
-14 = 16 - 30 -21 = -21

18) 2X +8 = 16
12) 1 + (1) + 3 + (1) :=: (1) + 5

-14=-14
7) 2(A + 4) + 6A = 2(2 + 3A) 2X=16-8

6=6

15) Y ~12 = 2Y - 4 2A + 8 + 6A = 4 + 6A 2X =81 1- 1
-12 + 4 = 2Y - Y 8A+ 8 =4+6A X=4

13) -x ==-! 5 5
-8=Y 8A- 6A=4 - 8

19) 42+L2 =52
16) (-8)-12=2(-8)-4 2A=-4

16 + L2 = 25-20 = -16 - 4 A =-2
L2=25-16 -l-20 = -20 8) 2((-2) + 4) + 6(-2) = 2(2 + 3(-2))
L2 =9 CD

CJ)2(2) + (-12) = 2(2 + (-6)) -4 1 L=3mi. en17) - =- 4-12=2(-4)
0

16 4
20) 1-8 =-8 c-18) 1Q = §. o·16 8

:l
CJ)19) 1..1.= Z.
-l
CD

16 8
CJ)-20) 7X+5X=11X-15
-'-12X=11X-15 -'-

12X-11X=-15
--l
CD
CJ)--'-
co


